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Q1. Find the missing number:

1+39=

Q2. Find the missing number:
j\é gé 3+45=

Q3. Bob ran to the shop in 0 minutes and 34 seconds.

Billy ran to the shop in 2 minutes and 30 seconds.

Sally ran to the shop in 0 minutes and 30 seconds.

i % E Order the three people by how quick they were, starting with the slowest
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Q4. Bob ran to the shop in 2 minutes and 30 seconds.
Billy ran to the shop in 1 minute and 15 seconds.

Sally ran to the shop in 2 minutes and 46 seconds.

Order the three people by how quick they were, starting with the fastest

Q5. Below are 4 shapes labelled A, B, C or D:

A B C D

Order these boxes by the amount of sides, starting with the least

O : : ,

Shape C has sides than Shape B
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Q6. Below are 4 shapes labelled A, B, C or D:

A B C D

Shape D has sides than Shape A

Q7. Below are five numbers:
79, 37, 66, 59, 50:
Enter the correct numbers to complete the sentence:

- =13

Q8. Below are five numbers:
21, 37, 93, 12, 95:
Enter the correct numbers to complete the sentence:

+ =105
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Q9. Use the number line, estimating to the nearest decimals and fill in the blanks:
The estimated value of the top box is
The estimated value of the bottom box is

The difference between both boxes is roughly
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Q10. Use the number line, estimating to the nearest tens and fill in the blanks:

The estimated value of the top box is
The estimated value of the bottom box is

The difference between both boxes is roughly
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ANSWERS
Q1. 40
Q2. 48
Q3. Billy, Bob, Sally
Q4. Billy, Bob, Sally

Q5.A,D,C,B
Shape C has 1 sides less than Shape B

Q6.D,A,B,C
Shape D has 0 sides more or less than Shape A

Q7.50-37 =13
Q8. 12 + 93 = 105

Q9. The estimated value of the top box is 0.6
The estimated value of the bottom box is 0.6
The difference between both boxes is roughly 0.0

Q10. The estimated value of the top box is 100
The estimated value of the bottom box is 80
The difference between both boxes is roughly 20
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